N & 0l & AF S & M M

20158 &= 20 A LBt H nEsA D
BN DEHH
HzM: H=ZnE 4K
Sl HEDSIIBEY L 24N N (B9 ®R)
(o
SA BB (3H) - NRAY - B Ol At o %Eﬁ HRE2
nEdHA 14,909,761 13,724,158 1,185,603
2 1,103,516
Xl 442,000
< 318,649
Al 13,045,596
Hazsuws 4K 14,881,561 13,699,558 1,182,003
2 1,103,516
Xl 442,000
< 318,649
Al 13,017,396
susSoetxcd & 2+9H X3 11,157,262 11,037,398 119,864
2 62,400
== 318,649
Al 10,776,213
HEWsE J|BtXH 275,620 276,540 A 920
101 124 4| 20,000 20,000 0]
04 J|12ZtHIZ22NEES 20,000 20,000 0
OAMNUHA S2E FA 0082 20,000,000 20,000
201 LBt | 51,620 42,540 9,080
01 AFR2-21H 39,620 30,540 9,080
TR =Y 16,720
HazwnsE g2=& 4.,000,000& 4,000
o NNBAFH &Hl 3,000,000 3,000
o BFMEX MYUE DA & HIOE Kol
200! 2, 0000H 400
o Al A AlZEE HIZ 4002 10, 0000H 4,000
0 22H0IE s&A SIEX & FAE2S 2
el 55,000 200 A+ 12& 1,320
0S&dHE BEXEZE HAAZE HZ
200,000 #2004 2~ 4,000
O2g+¢ 2,100
0O WEXANOSEHAYSAAMORA RG] EHAMH £
70,000 «7H 490
O HATHEXNFAARAZ EHA G
70,000 x8H 560
o HAIZXRJE HA =G
70,000 x5 «33] 1,050
[ PE=2=d] 7,000
olEzNE gL2=&X 2,000,000 2,000
oA EXE SMEI} S 2,000,000 2,000
0 2Lg8H KRIMEXZS 283 X NS
= 1,000,000& 1,000
o HASZE A2 2FX
2,000,000& 2,000
Ol 24| 13,800
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A sns SN
S Hsnsligtsd & 28H N2 (&)
SA - BB B () - MM - BES Ol &t o San HmEET
o BELUAA 225 FY(ES, ot=)
350,000& »23H 8,050
0o ZEUAA 222 2(52)
250,000& »23H 5,750
02 =224l 12,000 12,000 0
OZ=2=Z A A 12,000, 000& 12,000
202 04l 9,000 9,000 0
01 = LH o4 1l 9,000 9,000 0
Olsns gRF2A 9,000,000 9,000
207 A& | 35,000 35,000 0
01 289 35,000 35,000 0
OAUWHA BRI d =AEMM AF A A
29 20,000, 000& 20,000
OAlUH A AR AHZA E2H 15,000,000 15,000
401 AIEHI L 2 CHYI 160,000 170,000 A 10,000
01 A& HI 158,920 168,920 210,000
OAUH A SZR(FXEXE) X
150,000,000& %99.28% 148,920
OANUHA SZHR(BXEXE) B
10,000, 000& 10,000
03 AlE =TI 1,080 1,080 0
OANUHA SZR(FXEXE) X
150,000,000& *0.72% 1,080
2=ZAH XA 7,524,300 7,566,700 242,400
307 glz2tol & 7,524,300 7,566,700 A 42,400
09 2+HAHEEXS 7,524,300 7,566,700 A 42,400
OZHSEHAHDE 20BRA 29
13,500, 000& 13,500
OZHNSEHAHOE &4 29
3,600,000& 3,600
OCRAEZSEHAHOE 24 7,200,000 7,200
O22ZH(HA 32, 8HANREM Hds8 BEx2
7,500,000, 000& 7,500,000
NEAXNOSHASEHFX 2L (EX) 156,500 219,750 263,250
< 53,000
Al 103,500
307 21201 A 156,500 99,750 56,750
< 53,000
Al 103,500
05 RIZt2lEt = 140,000 99,750 40,250
OZHASEA 29 28,000, 000& =5CH 140,000
< 42,000
Al 98,000
09 2HAHAEXS 16,500 0 16,500




A REWEDY
M Hsns 4K
snsogxd & 283 XA (&)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
OS0ENS Z0s0d S818A 29
16,500, 000& 16,500
< 11,000
Al 5,500
AUBHA HEXR(Ex) 900,000 800,000 100,000
< 225,749
Al 674,251
307 glz2+ol & 900,000 800,000 100,000
< 225,749
Al 674,251
09 2+HAHEEXS 900,000 800,000 100,000
OANUHA THEXA 800,000,000 800,000
< 225,749
Al 574,251
OAMUHA E30 R32E0 HE =a2EH
100,000, 000 100,000
ANUHAEIIEHdEMEN(BX) 1,878,716 1,887,808 A9,092
307 21201 A 1,878,716 1,887,808 29,092
09 2+=HAHEBEXS 1,878,716 1,887,808 A9,092
OANUHA SIS &AEH(AETSIL)
1,491,804,000& 1,491,804
OANUHA S EAEH(AMAUHA)
319,503,000& 319,503
OANUHA S £AEAM(HFAUHA)
67,409,000 67,409
SYHA HEXE(EX) 90,000 90,000 0
402 RIZEXHE0I A 90,000 90,000 0
01 It 2 AL B X 90,000 90,000 0
O2N N SSHA HEXA
18,000, 000 *5CH 90,000
ETAl MHIA SaES I8t 8 8X K3 ALY 13,926 42,800 N 28,874
402 RI2EX=20l A 13,926 42,800 N28,874
01 B2t 2 AL E X 13,926 42,800 N28,874
OHAIOIED AEINE 2H ASAIAE &X
33,000& »4220H 13,926
BHAISSH 22X BEA XNE(BX) 255,200 100,000 155,200
= 62,400
Al 192,800
402 QIZ2HAHE01 M 255,200 100,000 155,200
= 62,400
Al 192,800
01 It AL E X 255,200 100,000 155,200
OHANESEH 22X 24 XA
15,950,000 * 16 CH 255,200
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= 62,400
Al 192,800
SLE Y ZHAE HAX(EX) 33,000 41,800 A 8,800
< 9,900
Al 23,100
401 Al HI 2 28I 33,000 41,800 A 8,800
< 9,900
Al 23,100
01 Al 33,000 41,800 8,800
OHASYT Y ZYAL &
33,000,000& 33,000
= 9,900
Al 23,100
HEweE JIgT&(EX) 30,000 0 30,000
< 30,000
307 glz2tol & 30,000 0 30,000
< 30,000
09 2HAHAEXS 30,000 0 30,000
OUFHHBI DX OtAZZE I AL
30,000,000& 30,000
< 30,000
XN ENEE & WSAHIMHE 3,630,289 2,580, 150 1,050, 139
= 1,041,116
Xl 442,000
Al 2,147,173
WSUHTAIE &F & WSAD ol 1,158,173 1,079,150 79,023
101 1A dl 26,723 0 26,723
04 JIZHHZ2XNHEE S 26,723 0 26,723
FEXL HEF A 26,723
oJdlZ=a 1,212,000& x1H x 123 14,544
o 40z (JIZaY) 1,212,000& *1H x400% 4,848
o EEFOtH| 1,212,000 12 «120% 1,455
o Mg Al 130,000& 1201 & 1,560
o HEIZZSE
6,4203 1H +18AI 2t * 128 1.5 2,081
o Axt=+¢g 6,420 »8Al 2+ x152 «1H 771
o =gd=z
(1,182,000% *4.5%*20 & )+(1,212,0002 *4. 652
5%+ 100 2 )
o NEEHE
(1,182,0009 *1.5%*200 & )+(1,212,0002 *1. 218
5%1001 & )
o M EH
(1,182,000% *0.9%*2JH & )+(1,212,000& *0. 131
9%*10J1 &)
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SN DEHEDY
HHM: HZsWE XS
S =X EAEE L uSAHD0E (&2 &)
SN EB S (3H) - NEAY - BES ofl &k o San HDE2
401 Al HI L 2 0HHI 735,000 735,000 0
01 A& HI 729,960 729,960 0
QOUENTAIEE AX(NHEM)
175,000, 000& %99 . 28% 173,740
QOUENTAEE AX(NHEEM SAEZ)
20,000, 000& 20,000
OUENFTANEE dX(=05S WH)
200,000,000 *x99.28% 198,560
OUSEUFTANEE XSS |RIABLE)
20,000,000& 20,000
OUENTAEE AX(EXNE AX])
100,000, 000& %99. 10% 99,100
OUENTANEE AX(EXNE RIAEL)
20,000,000& 20,000
OUENTANEE dX(=HES WH)
200,000, 000& *x99.28% 198,560
03 A& 2 0HH] 5,040 5,040 0
QOUENTAIEE AX(NHEM)
175,000, 000& *0.72% 1,260
OUENTANEE AX(E=0zS WH)
200,000,000 *0.72% 1,440
OUENTAIEE AX(EXNE AX])
100,000, 000& *0.90% 900
QOUENTANEE dX(=HES WH)
200,000,000 *0.72% 1,440
oelol B3 A (XIS) 100,000 60,000 40,000
N 50,000
Al 50,000
401 Al HI L 2 0HHI 100,000 60,000 40,000
Xl 50,000
Al 50,000
01 Al& H| 99,100 59,460 39,640
000 25329 e 99,100
Xl 49,550
Al 49,550
03 Al 201 Y] 900 540 360
OO0 B39 M 900
Xl 450
Al 450
0| M HANMBOIT2IRE(CCTV)(XE) 534,000 1,200,000 A 666,000
N 267,000
Al 267,000
401 Al HI L 2 0HHI 534,000 1,200,000 A 666,000
Xl 267,000
Al 267,000
01 Al&H| 530,636 1,195,680 N 665,044
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SRl FIM BASY L DSADOY CERED
SA - BB B () - MM - BES Ol &t o San HmEET
O 0lotd JARE ol Zet 2= (CCTV)
530,636,000 530,636
Xl 265,318
Al 265,318
03 A& =TI 3,364 4,320 A 956
O020lord JAFE ol Zet 2= (CCTV)
3,364,000 3,364
Xl 1,682
Al 1,682
SEAFUHE =4 164,000 64,000 100,000
101 @124 dl 36,000 36,000 0
04 JI2ZHHZ2XEES 36,000 36,000 0
OREIZIAFIE 22 A2
18,000,000& »2H 36,000
201 LBH2d| 3,000 3,000 0
02 =224l 3,000 3,000 0
O2ZF=x& sX2el 3,000,000& 3,000
207 RO 25,000 0 25,000
01 A7 39l 25,000 0 25,000
OZHAl =Xz B A H71EH
25,000,000 25,000
401 AIEHI L 20 100,000 25,000 75,000
01 A& HI 99,100 25,000 74,100
O2212E=xE =4 100,000,000 *99. 10% 99,100
03 AlE 2 THHI 900 0 900
O3HBEFXE =4 100,000, 000& *0.90% 900
CCTV & Xl&2 100,000 100,000 0
401 Al Bl 28I 100,000 100,000 0
01 A& HI 98,920 99,100 A 180
O=E X ettt DFEE CCTVE X
50,000,000 = 1CH+98.92% 49,460
OL2 5Eereks DAEE CCTVE X
50,000,000 = 1CH+98.92% 49,460
03 AlE S THHI 1,080 900 180
OF=Z X etk D3 S CCTVE X
50,000,000& »1CH=1.08% 540
O SE9pes DFY CTVEX
50,000,000& »1CH=1.08% 540
NEHSH SAE Ad=ES X E 2l 33,000 30,000 3,000
101 14 Hl 4,000 4,000 0
04 JIZHHZ22XEE S 4,000 4,000 0
OXNBEEN NEAHMALE X L EH 2
2 80,0003 «5H 10 4,000




SH: DEBED
A sns SN
©?: FEXN EMEE Y DSAMDHE (=& J)
SN FHE - B(BA) - MRAY - BHES Ol &t o4 San Hl B E2
201 L2l 5,500 2,500 3,000
01 At 22l 5,500 2,500 3,000
O2e==EH| 1,500
o NBHEEN nsaAAE 22/EE 7L
1,500, 000& 1,500
[ DN = 4,000
o NBLE=M nssSHE8 RHI| 2
1,000, 000& 1,000
o NEBH=H LNSAEE8 X U LI
3,000,000 3,000
401 Al&HI & 28I 23,500 23,500 0
01 A& HI 23,500 23,500 0
OXNEBLH=N nNSotd PEYSYE L WEAHA
X 2 EHA 20,000,000& 20,000
OXNELH=H nSeHHEXE EX HbI
3,500,000& 3,500
WS AAMA HE(EX) 1,041,116 47,000 994,116
= 1,041,116
401 AIEHIZ 28I 1,041,116 47,000 994,116
= 1,041,116
01 A& tI 1,037,368 47,000 990, 368
OZ2Ins2clMA HEAY  1,037,368,000& 1,037,368
= 1,037,368
03 AIE 2 0H bl 3,748 0 3,748
Z2A NS 22 MAH HE A 3,748,000 3,748
= 3,748
SEFINE T4 (EX) 500,000 0 500,000
Xl 125,000
Al 375,000
401 AIEBIZL 28I 500,000 0 500,000
Xl 125,000
Al 375,000
01 A& Hl 496,400 0 496,400
OREER BI=1E =4
00,000,000& %99.28% 496,400
X 124,100
Al 372,300
03 Al 20 HI 3,600 0 3,600
OREERX I =4
500,000,000& *0.72% 3,600
Xl 900
Al 2,700
xr&k2te] 94,010 82,010 12,000
HESE 2el 94,010 82,010 12,000
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chel: xerEe (S &2)
SA - BB B () - MM - BES Ol &t o San HmEET
201 L2l 76,450 76,450 0
01 At 22l 34,450 34,450 0
O2e==EH| 29,950
oXNHSE PR =& 5,210,000 5,210
o BAXIA BHZE M=K FL
100,000& 10 A 1,000
0 REE MIESIAM 2 15 2
80,000 »40%F A 3,200
o MEUS otie sEEX +Y
80,000 20 A 1,600
o dAL ARSI E 2 88 7¢
0,000& 20 A 1,600
o ISUHEERR(Z) 2 68 7¢
200& =5,0000H 1,000
o NSXANLASTNUEM 2 78 7
100& =10, 0000H 1,000
o 3% ¢ 60,000 x20t A 1,200
o Ad&J|H Bds ZEXN +&
100& %10, 0000H 1,000
o OIEXNSA, A2 HSE A
4,140,000 4,140
o As=sd XN 3,000,000& 3,000
o JEHEDXNAN = 2,000,000 2,000
o AAXA WHE MESFE R
4,000,000 4,000
O=&l 3,000
oXHESE g2 =& 2,000,000 2,000
o SAHE g2 = 1,000,000 1,000
[ DN = 1,500
o SHEIXZE AUX AX=
50,000& =303l 1,500
02 =224l 42,000 42,000 0
O33SBLAA 35,000,000 35,000
OA & EHl Sl 7,000,000 7,000
202 O4dl 5,560 5,560 0
01 = LH o4 1 5,560 5,560 0
OXNYSE g7 =4 4,560,000 4,560
OEAE g8 =& 1,000, 000& 1,000
405 XHobF S HI 12,000 0 12,000
01 AL ESFH S 12,000 0 12,000
OZHY (ADEE) X AlAE 7Y
3,000,000 =4CH 12,000
HE2IAZH (nSdHA D) 28,200 24,600 3,600
JlgZbl(nsdd ) 28,200 24,600 3,600
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